ERRAROBRBERT — 4N —BIST—F
LLll 7R 2%

[A~&£] 17 :1,400,000  ~ 23 :560,000 37 :350,000 § ~ 43 :210,000 @ 5 7 :140,000 M

2019 12R 126 (K) 9mEI#aHE4H

£ 40AFKH

‘ [Riz] ¥ ‘ [REBE] — | & (%) 12000 4=

& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1lsl5|Vaws®f—rH2 H o2 gﬁéﬂsi’ 1:(1_5).9 =11 |39.6| — | 1 | 515 gﬁ%g_@eﬁ)
RV hTF—s BHuFLTU— #9) | pagiagss
— TS 1ERERA 7. = . — BRAR (fafg)
ol7l 7| L==FU>Z 2 e 1(167)1 2-2-2 | 40.5 2 (4_6; EEEE
R:Z2yY—>b—0O— B:T7I—LaA— ARET21-T7— L
) e i o2 | BEE 1:17.3 3-3-3  [40.4| — 3 433 | FIHBEE (#41E)
] 3 KR A %053.0 (3/4) +2) (B) J PN
L:drrtrX B:eEYTF4—N -
o= 4t 2 | RES 1:17.8 6-6-5 |40.5| — 4 484 | SRER (fatd)
s 6| A /¥-TUAZ 5.0 (@ 1/2) (o |EBR=
L:wyDE&dyk B:HFXYavTIz7— =R7r7—LA
RSN 2 | SIS 1:18.1 9-8-7 [40.0| — 7 486 | EEB (fe4E)
5(1[1|7Y—-FZ3> 7 s (1 1/2) (+2) | KOEE .
R:xF Ty R—L B:xAT1T1T7> AEHE
e+ 2 =] :18. -5~ . — REEEA (E)
«H > << a)H 2 i 1 (131'3)7 5-5-6 M9.5 6 (4_021) Bl
R:G14 7 T—EY B:EYaFU— =Eivie
> 4 2 | REARS 1:19.9 4-4-4 28| — 5 441 | BHIER (115)
7N 4| 7IET DT 54.0 ®) (o) | ZA7I>E-TFAX ()
:xA1z=dr—2 B:a0F Rt TR —-Z2Ttr%
E . . = — ERE i
glalg|Frvzmsy H o2 15%53%‘%5& 1.(261).1 7-71-8 435 8 | 427 Wﬁiﬁt‘; (#ats)
QB JFLLy b Bi¥ ity ANO—X S il
. = N = ERRE :23. -0 . — HBER (AafE)
9lalo GSFETH T o2 an (1&%{3;) 8-9-9 4.4 9 (4;5) A G
R:T—FXANI— BEALHATI i A
@ I—F—@EBIERL
13—=7-
20—F— 5,7,3,4,2,6,8,9,1
30—F+— 5,7,3,4,2,6,8,1,9
AT =zr= 5,7,3,4,6,2,1,8,9
0 ILRE
B 5 260/ 794K 5-7 190M % E 5-7 430 &R 3-5-7 620
# B 5 110 85 240 B 5-7 720M EE B=1=3 2,330
7 140 3-7 250/ B = 5-7 440
8 140 B H 5-7 630/

ARICOVWTRDTEEERROODE. TR LI,




